
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

TRANSFORMATION FORMULAE

Solved Examples And Exercises

1. Show that:

Watch Video Solution

sinA sin(B − C) + sinB sin(C − A) + sinC sin(A − B) = 0

2. Show that:

Watch Video Solution

sin(B − C)cos(A − D) + sin(C − A)cos(B − D) + sin(A − B)cos(C − D

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_y6JXczfka7Rc
https://dl.doubtnut.com/l/_AeokQ8eyMPzS


3. If  and 
, then 


is equal to
 
(b) 
(c) 
(d) 

Watch Video Solution

tanα =
x

x + 1
tanβ =

1

2x + 1
α + β

π/2 π/3 π/6 π/4

4. If 
prove that 

Watch Video Solution

m sin θ = n sin(θ + 2α), tan(θ + α)cot α = .
m + n

m − n

5. If 
 are 


 
(b) 
(c) 
(d) none of these

Watch Video Solution

sin(B + C − A), sin(C + A − B), sin(A + B − C),

A
.
P ., then cot A, cot B, cot Care ∈ GP HP AP

6. If 
 prove that 

W t h Vid S l ti

cos(α + β) ⋅ sin(γ + δ) = cos(α − β) ⋅ sin(γ − δ),

cot α cot β cot γ = cot δ

https://dl.doubtnut.com/l/_AeokQ8eyMPzS
https://dl.doubtnut.com/l/_quUHcUkzseda
https://dl.doubtnut.com/l/_FYBmBkoWUUUo
https://dl.doubtnut.com/l/_dCNThYHNLOXu
https://dl.doubtnut.com/l/_XoH1Nrs6rXpf


Watch Video Solution

7. If 
 , prove that 

Watch Video Solution

x cos θ = y cos(θ + ) = z cos(θ + )
2π

3

4π

3

xy + yz + zx = 0.

8. If 
 prove that: 

Watch Video Solution

cos ecA + secA = cos ecB + secB,

tanAtanB =
cot(A + B)

2

9. If 

Watch Video Solution

= =
tan(θ + α)

a

tan(θ + β)

b

tan(θ + γ)

c

sin2(α − β) + sin2(β − γ) + sin2(γ − α) = 0
a + b

a − b

b + c

b − c

c + a

c − a

https://dl.doubtnut.com/l/_XoH1Nrs6rXpf
https://dl.doubtnut.com/l/_SKvsuNZuKH0N
https://dl.doubtnut.com/l/_hLVS87SnP4OZ
https://dl.doubtnut.com/l/_FJev367HsX2O


10. If  and 
 , prove that: 

Watch Video Solution

cosA + cosB =
1

2
sinA + sinB =

1

4

tan( ) =
A + B

2

1

2

11. If 
 , prove that 

Watch Video Solution

a sin θ = bsin(θ + ) = csin(θ + )
2π

3

2π

3

ab + bc + ca = 0.

12. If 
 are in A.P., then 


are in
(a)A.P. (b)
G.P. (c) H.P.
 (d) none of these

Watch Video Solution

sin(y + z − x), sin(z + x − y), sin(x + y − z)

tanx, tany, tan z

13. Prove that: 

Watch Video Solution

tan 200tan 400tan 800 = tan 600

https://dl.doubtnut.com/l/_ARsuNZqyXqxI
https://dl.doubtnut.com/l/_gFO0fSf1u5Xr
https://dl.doubtnut.com/l/_mPiWfQayX3rp
https://dl.doubtnut.com/l/_7Z4wuziBnwio


14. Prove that :

Watch Video Solution

sinA sin(600 − A)sin(600 + A) = sin 3A
1

4

15. Show that: 

Watch Video Solution

tan(600 + θ)tan(600 − θ) =
2 cos 2θ + 1

2 cos 2θ − 1

16. If 
, find the maximum and minimum values of 

Watch Video Solution

α + β = 900 sinα sinβ.

17. Prove that: 

Watch Video Solution

cos 200cos 400cos 600cos 800 =
1

16

https://dl.doubtnut.com/l/_7Z4wuziBnwio
https://dl.doubtnut.com/l/_pGXDpxkEHyqy
https://dl.doubtnut.com/l/_bGo9f1aCTKCJ
https://dl.doubtnut.com/l/_s1Md5bfITnkO
https://dl.doubtnut.com/l/_rObxqbBfLC9b


18. Prove that: 

Watch Video Solution

sin 200sin 400sin 600sin 800 =
3

16

19. Prove that: 

Watch Video Solution

4cos120cos 480cos 720 = cos 360

20. Prove that: 

Watch Video Solution

tanθ tan(600 − θ)tan(600 + θ) = tan 3θ.

21. Prove that:

Watch Video Solution

sin(B − C)cos(A − D) + sin(C − A)cos(B − D) + sin(A − B)cos(C − D

https://dl.doubtnut.com/l/_u9D8iC37937e
https://dl.doubtnut.com/l/_YrkkqoOueayd
https://dl.doubtnut.com/l/_v8aDSUSX7uzT
https://dl.doubtnut.com/l/_p17MCXphcFJQ


22. If 
 then 
 (a)


(b) 0 (c) 1 (d) none of these

Watch Video Solution

sinx + siny = √3(cos y − cos x), sin 3x + sin 3y =

2 sin 3x

23. Prove that:

Watch Video Solution

cos(A + B + C) + cos( − A + B + C) + cos(A − B + C) + cos(A + B −

sin(A + B + C) + sin( − A + B + C) + sin(A − B + C) − sin(A + B −

24. Prove that:

Watch Video Solution

( )
n

+ ( )
n

= {2 cotn( ), if nisev
cosA + cosB

sinA − sinB

sinA + sinB

cosA − cosB

A − B

2

25. If sin 
, prove that 
.

Watch Video Solution

θ = nsin(θ + 2α) tan(θ + α) = tanα
1 + n

1 − n

https://dl.doubtnut.com/l/_B4jUJMKnWnDK
https://dl.doubtnut.com/l/_HeEs4vFnwGDp
https://dl.doubtnut.com/l/_pP8qiGnjCcHD
https://dl.doubtnut.com/l/_UxMtft0hRKYa


26. Prove that: = `

Watch Video Solution

sin(A − C) + 2 sinA + sin(A + C)

sin(B − C) + 2 sinB + sin(B + C)

sinA

sinB

27. Prove that: 

Watch Video Solution

= tan 4A
cos8A cos 5A − cos 12A cos 9A

sin8A cos 5A + cos 12As ∈ 9A

28. Prove that: 

Watch Video Solution

= tan 4A
sinA + sin 3A + sin 5A + sin 7A

cosA + cos 3A + cos 5A + cos 7A

29. Prove that: 

Watch Video Solution

1 + cos 2x + cos 4x + cos 6x = 4 cos x cos 2x cos 3x

https://dl.doubtnut.com/l/_UxMtft0hRKYa
https://dl.doubtnut.com/l/_beH2CXy0B99d
https://dl.doubtnut.com/l/_rzC4F0jIVH97
https://dl.doubtnut.com/l/_08h5XVITB3Av
https://dl.doubtnut.com/l/_DgkxhsxxBGJ6


30. Prove that: 

Watch Video Solution

cos 180 − sin180 = √2sin 270

31. Express each of the following as a product:
 
 (ii) 


(iii) 
(iii) 

Watch Video Solution

sin 4θ + sin 2θ

sin 6θ − sin 2θ cos 4θ + cos 8θ cos 6θ − cos 8θ

32. If 
, prove that 

Watch Video Solution

=
sin(θ + α)

cos(θ − α)

1 − m

1 + m
tan( − θ)tan( − α) = m

π

4

π

4

33. If 
, prove that 

Watch Video Solution

sin θ + sinϕ = √3(cos ϕ − cos θ)) sin 3θ + sin 3ϕ = 0

https://dl.doubtnut.com/l/_dQeZu3eJcEEg
https://dl.doubtnut.com/l/_rnwhg7BnSY41
https://dl.doubtnut.com/l/_BZIjyBr77EMF
https://dl.doubtnut.com/l/_t0SPFig7qxeA


34. Convert each of the following products into the sum or difference of

sines and cosines: 

Watch Video Solution

2 sin 5θ cos θ

35. Convert each of the following products into the sum or difference of

sines and cosines: 

Watch Video Solution

sin 750cos 150

36. Convert each of the following products into the sum or difference of

sines and cosines: 

Watch Video Solution

2 cos 4θ cos 3θ

37. Convert each of the following products into the sum or difference of

sines and cosines: cos 750cos 150

https://dl.doubtnut.com/l/_JRktrWbCxVnL
https://dl.doubtnut.com/l/_7ujXR8DL6Ss3
https://dl.doubtnut.com/l/_L9U68ovZi37O
https://dl.doubtnut.com/l/_hPFQ25SJRynV


Watch Video Solution

38. Convert each of the following products into the sum or difference of

sines and cosines: 

Watch Video Solution

 2 sin 3θ sin θ

39. Find the value of 

A. 1

B. 2

C. -1

D. None of these

Answer: C

Watch Video Solution

2 cos( )cos( ) + cos( )
π

10

9π

10

2π

10

https://dl.doubtnut.com/l/_hPFQ25SJRynV
https://dl.doubtnut.com/l/_MKshGVoVxNwS
https://dl.doubtnut.com/l/_HsakomztmQCH


40. Prove that:


Watch Video Solution

sin 100sin 300sin 500sin 700 = .
1

16

41. Prove that: 

Watch Video Solution

cosA cos(600 − A)cos(600 + A) = cos 3A
1

4

42. Prove that 

A. ‘

B. null

C. null

D. null

Answer: null

Watch Video Solution

4 sin θ sin( + θ)sin( + θ) = sin 3θ
π

3

2π

3

https://dl.doubtnut.com/l/_mF4QIRx9BxHg
https://dl.doubtnut.com/l/_oRGRm1W8OO9W
https://dl.doubtnut.com/l/_XNno6g1RoKKe


43. Express each of the following as the sum or difference of sines and

cosines: 

Watch Video Solution

2 sin 3θ cos θ

44. Express each of the following as the sum or difference of sines and

cosines: 

Watch Video Solution

 2 sin 4θ sin 3θ

45. Express each of the following as the sum or difference of sines and

cosines: 

Watch Video Solution

 2 cos 3θ sin 2θ

46. Express each of the following as the sum or difference of sines and

cosines:  2 cos 7θ cos 3θ

https://dl.doubtnut.com/l/_XNno6g1RoKKe
https://dl.doubtnut.com/l/_2XEiPcrrCpor
https://dl.doubtnut.com/l/_5qiv2v0pDWUR
https://dl.doubtnut.com/l/_pf6h5yKNOrdQ
https://dl.doubtnut.com/l/_Fe546LXvdsxe


Watch Video Solution

47. Prove that; 

Watch Video Solution

=
2 sin(5π)

12

sinπ

12

1

2

48. Prove that 

Watch Video Solution

2 sin( )cos( ) =
5π

12

π

12

2 + √3

2

49. Find the value of  and 

Watch Video Solution

2 cos( )cos( )
5π

12

π

12
2 sin( )cos( )

5π

12

π

12

50. Show that: 

Watch Video Solution

s ∈ 500cos 850 =
1 − √2sin 350

2√2

https://dl.doubtnut.com/l/_Fe546LXvdsxe
https://dl.doubtnut.com/l/_pK457RQHDJs1
https://dl.doubtnut.com/l/_OfAjKMBo4Nr6
https://dl.doubtnut.com/l/_rL8uezCago8j
https://dl.doubtnut.com/l/_CBQjrQOmgWVD


51. 

Watch Video Solution

sin 25∘ cos 115∘ = (sin 40∘ − 1)
1

2

52. Prove that: 

Watch Video Solution

4 cos θ cos ( + θ)cos( − θ) = cos 3θ
π

3

π

3

53. Prove that: 

Watch Video Solution

cos 10∘ cos 30∘ cos 50∘ cos 70∘ =
3

16

54. Prove that: 

Watch Video Solution

sin 20∘ sin 40∘ sin 80∘ =
√3

8

55. Prove that: tan20∘ tan 40∘ tan 60∘ tan 80∘ = 3

https://dl.doubtnut.com/l/_iUahYyQI1PC8
https://dl.doubtnut.com/l/_LHNm3iBTw8hK
https://dl.doubtnut.com/l/_oVqkNgfZnJOT
https://dl.doubtnut.com/l/_iBGCalHAzeBk
https://dl.doubtnut.com/l/_7vyjhgMhu4hU


Watch Video Solution

56. Prove that: 

Watch Video Solution

sin 10∘ sin 50∘ sin 60∘ sin 70∘ =
√3

16

57. Prove that: 

Watch Video Solution

cos 400cos 800cos 1600 =   −
1

8

58. Prove that: 

Watch Video Solution

 cos 200cos 400cos 800 =
1

8

59. Prove that: 

Watch Video Solution

tan 20∘ tan 30∘ tan 40∘ tan 80∘ = 1

https://dl.doubtnut.com/l/_7vyjhgMhu4hU
https://dl.doubtnut.com/l/_elKkscHODF4v
https://dl.doubtnut.com/l/_dBAiwpgvI03B
https://dl.doubtnut.com/l/_w3dzpXxGQfmZ
https://dl.doubtnut.com/l/_HyTYbfaVyHRi


60. Prove that: 

Watch Video Solution

sin 200sin 400sin 600sin 800 =
3

16

61. Prove that: 

Watch Video Solution

= tanA
sin 5A − sin 3A

cos 5A + cos 3A

62. Prove that: 

Watch Video Solution

= tan( )
sinA + sinB

cosA + cosB

A + B

2

63. 

Watch Video Solution

= tan 2A
sinA + sin 3A

cosA + cos 3A

64. Prove that: = cot A
cos 7A + cos 5A

sin 7A − sin 5A

https://dl.doubtnut.com/l/_ItSBGE4D3EEp
https://dl.doubtnut.com/l/_T5izhwdFkiOT
https://dl.doubtnut.com/l/_jH7UDTwcqUHm
https://dl.doubtnut.com/l/_4CS4WMMAgmM9
https://dl.doubtnut.com/l/_PZ8AULkleDjU


Watch Video Solution

65. Prove that: 

Watch Video Solution

=   −
cos 9x − cos 5x

sin 17x − sin 3x

sin 2x

cos 10x

66. Prove that: 

Watch Video Solution

= tan4x
sin 5x + sin 3x

cos 5x + cos 3x

67. Prove that 

Watch Video Solution

cot 4x(sin 5x + sin 3x) = cot x(sin 5x − sin 3x)

68. Prove that : 

Watch Video Solution

sinx + sin 3x + sin 5x + sin 7x = 4 cos x cos 2x sin 4x

https://dl.doubtnut.com/l/_PZ8AULkleDjU
https://dl.doubtnut.com/l/_MiQYUMPxLFXD
https://dl.doubtnut.com/l/_lYsKG4Q1hR4S
https://dl.doubtnut.com/l/_muRdbTVMhTDa
https://dl.doubtnut.com/l/_1feuHguegFoz
https://dl.doubtnut.com/l/_nBC4WQeei8S8


69. Prove that:

Watch Video Solution

 (sin 3A + sinA)sinA + (cos 3A − cosA)cosA = 0

70. show that 

Watch Video Solution

cos 2θ cos( ) − cos 3θ cos(9 ) = sin 5θ sin(5 )
θ

2
θ

2
θ

2

71. Prove that: 

Watch Video Solution

(cosα + cos β)2 + (sinα + sinβ)2 = 4 cos2( )
α − β

2

72. Prove that: 

Watch Video Solution

(cosα − cos β)2 + (sinα − sinβ)2 = 4 sin2 ( )
 

α − β

2

https://dl.doubtnut.com/l/_nBC4WQeei8S8
https://dl.doubtnut.com/l/_cqHgcHY5oxG1
https://dl.doubtnut.com/l/_DnTUDatZcavm
https://dl.doubtnut.com/l/_2bnGndo6A9C6


73. Prove that: 

.

Watch Video Solution

cosα + cos β + cos γ + cos(α + β + γ) = 4
cos(α + β)

2

cos(β + γ)

2

cos(γ +

2

74. Prove that: 

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x

sin 4x + sin 3x + sin 2x

75. Prove that:

Watch Video Solution

= cot 6A cot 5A
cos 2A cos 3A − cos 2A cos 7A + cos 10A cosA

sin 4A sin 3A − sin 2A sin 5A + sin 4A sin 7A

https://dl.doubtnut.com/l/_dxta1ZVwwxKt
https://dl.doubtnut.com/l/_zLR5UpRqfexS
https://dl.doubtnut.com/l/_3joJVq4pZbGY


76. If three angles A, B, and C are in A.P. prove that:

Watch Video Solution

cot B =
sinA − sinC

cosC − cosA

77. Prove that: 

Watch Video Solution

= 2 cos θ
cos 6θ + 6 cos 4θ + 15 cos 2θ + 10

cos 5θ + 5 cos 3θ + 10 cos θ

78. Express each of the following as the product of sines and cosines:

Watch Video Solution

sin 12θ + sin 4θ

79. Express each of the following as the product of sines and cosines:

Watch Video Solution

cos 12θ − cos 4θ

https://dl.doubtnut.com/l/_V90PEzXE6YxS
https://dl.doubtnut.com/l/_KTISQ2Yk4uBF
https://dl.doubtnut.com/l/_dXW9c4QBdPJM
https://dl.doubtnut.com/l/_dr6ABsGEadMS


80. Express each of the following as the product of sines and cosines:

Watch Video Solution

sin 5θ − sin θ

81. Express each of the following as the product of sines and cosines:

Watch Video Solution

sin 2θ + cos 4θ

82. Express each of the following as the product of sines and cosines:

Watch Video Solution

 cos 12θ + cos 8θ

83. Prove that: sin 380 + sin 220 = sin 820

https://dl.doubtnut.com/l/_dr6ABsGEadMS
https://dl.doubtnut.com/l/_17UHgMkhL8Nc
https://dl.doubtnut.com/l/_9vojkqvjdI5e
https://dl.doubtnut.com/l/_DVZEe4w77H65
https://dl.doubtnut.com/l/_1reXeDmW5qrC


Watch Video Solution

84. Prove that: 

Watch Video Solution

 sin 500 + sin 100 = cos 200

85. Prove that: 

Watch Video Solution

sin 105∘ + cos 105∘ = cos 45∘

86. Prove that: 

Watch Video Solution

cos 1000 + cos 200 = cos 400

87. Prove that: 

Watch Video Solution

sin 230 + sin 370 = cos 70

https://dl.doubtnut.com/l/_1reXeDmW5qrC
https://dl.doubtnut.com/l/_vVNQ1fgQO4lM
https://dl.doubtnut.com/l/_hRG8ENFTysgo
https://dl.doubtnut.com/l/_L1pFedBwnkxC
https://dl.doubtnut.com/l/_tNafGSVL8mBC
https://dl.doubtnut.com/l/_B8z4zP3YkW1H


88. Prove that: 

Watch Video Solution

sin 400 + sin 200 = cos 100

89. Prove that: 

Watch Video Solution

cos 550 + cos 650 + cos 1750 = 0

90. Prove that: 

Watch Video Solution

cos 800 + cos 400 − cos 200 = 0

91. Prove that: 

Watch Video Solution

sin 800 − cos 700 = cos 500

92. sin( ) − cos( ) = √3 sin( )
5π

18

4π

9

π

9

https://dl.doubtnut.com/l/_B8z4zP3YkW1H
https://dl.doubtnut.com/l/_mhe35bImz1rr
https://dl.doubtnut.com/l/_ur6T9V9jw5Ai
https://dl.doubtnut.com/l/_jpWBvNHLl72C
https://dl.doubtnut.com/l/_lANAfo9E4uGe


Watch Video Solution

93. Prove that: 

Watch Video Solution

sin 500 − sin 700 + sin 100 = 0

94. Prove that: 

Watch Video Solution

cos 200 + cos 1000 + cos 1400 = − 0

95. 

Watch Video Solution

− =
cos π

12

sinπ

12

1

√2

96. Prove that 

Watch Video Solution

: sin 510 + cos 810 = cos 210

https://dl.doubtnut.com/l/_lANAfo9E4uGe
https://dl.doubtnut.com/l/_iI9UI5h3Z8QS
https://dl.doubtnut.com/l/_hZC1VfRk8QMr
https://dl.doubtnut.com/l/_0ZgkF3nGWmb2
https://dl.doubtnut.com/l/_edVIWdgV5CZt
https://dl.doubtnut.com/l/_rlFjqZ4g6cci


97. Prove that: 

Watch Video Solution

cos( + x) − cos( − x) = − √2 sinx
3π

4

3π

4

98. Prove that: 

Watch Video Solution

cos( + x) + cos( − x) = √2 cos x
π

4

π

4

99. Prove that: 

Watch Video Solution

sin 650 + cos 650 = √2cos 200

100. Prove that: 

Watch Video Solution

sin 470 + cos 770 = cos 170

https://dl.doubtnut.com/l/_rlFjqZ4g6cci
https://dl.doubtnut.com/l/_ArrFGigQbYAm
https://dl.doubtnut.com/l/_jI5HHshuGMzP
https://dl.doubtnut.com/l/_gquVpr2g8Azx


101. Prove that:

Watch Video Solution

cos 3A + cos 5A + cos 7A + cos 15A = 4 cos 4A cos 5A cos 6A

102. Prove that:

Watch Video Solution

 cosA + cos 3A + cos 5A + cos 7A = 4 cosA cos 2A cos 4A

103. Prove that

Watch Video Solution

sinA + sin 2A + sin 4A + sin 5A = 4( )(cos 3 )sin 3A
cosA

2

A

2

104. Prove that:

cos 200cos 1000 + cos 1000cos 1400 −  cos 1400cos 2000 = −
3

4

https://dl.doubtnut.com/l/_QK7a0CvNBcma
https://dl.doubtnut.com/l/_dH4j0qT5nnP8
https://dl.doubtnut.com/l/_gENb9e2MTFO6
https://dl.doubtnut.com/l/_OYdO3RbwHnNp


Watch Video Solution

105. Prove that:


Watch Video Solution

 sin 3A + sin 2A − sinA = 4 sinA cos 3
cosA

2

A

2

106. Prove that:

Watch Video Solution

cos θ − cos 3θ = sin 7θ sin 8θ.
cos θ

2

cos(9θ)

2

107. Prove that: 

Watch Video Solution

= cot A
sinA + sin 3A

cosA − cos 3A

108. Prove that: 

Watch Video Solution

= cot 8A
sin 9A − sin 7A

cos 7A − cos 9A

https://dl.doubtnut.com/l/_OYdO3RbwHnNp
https://dl.doubtnut.com/l/_8jgoME2yhMxG
https://dl.doubtnut.com/l/_zxZY462ZJMVK
https://dl.doubtnut.com/l/_8fsRoLBg2Xj6
https://dl.doubtnut.com/l/_M8KHPaYute29
https://dl.doubtnut.com/l/_i69Fzov4eIik


109. Prove that: 

Watch Video Solution

= tan( )
sinA − sinB

cosA + cosB

A − B

2

110. Prove that: 

Watch Video Solution

= tan( )cot( )
sinA + sinB

sinA − sinB

A + B

2

A − B

2

111. Prove that: 

Watch Video Solution

= cot( )cot( )
cosA + cosB

cosB − cosA

A + B

2

A − B

2

112. Prove that:

Watch Video Solution

= tan 3A
sinA + sin 3A + sin 5A

cosA + cos 3A + cos 5A

113. Prove that: =
cos 3A + 2 cos 5A + cos 7A

cosA + 2 cos 3A + cos 5A

cos 5A

cos 3A

https://dl.doubtnut.com/l/_i69Fzov4eIik
https://dl.doubtnut.com/l/_5ROoDrqytBjz
https://dl.doubtnut.com/l/_GJzpsmxgppeE
https://dl.doubtnut.com/l/_woT4M9hqUbi9
https://dl.doubtnut.com/l/_xBAyrjbMENaH


Watch Video Solution

114. Prove that: 

Watch Video Solution

= cot 3A
cos 4A + cos 3A + cos 2A

sin 4A + sin 3A + sin 2A

115. Prove that: 

Watch Video Solution

= tan 6A
sin 3A + sin 5A + sin 7A + sin 9A

cos 3A + cos 5A + cos 7A + cos 9A

116. Prove that: 

Watch Video Solution

= tanA
sin 5A cos 2A − sin 6A cosA

sinA sin 2A − cos 2A cos 3A

117. Prove that: 

Watch Video Solution

= tan 2A
sin 3A cos 4A − sinA cos 2A

sin 4A sinA + cos 6A cosA

https://dl.doubtnut.com/l/_xBAyrjbMENaH
https://dl.doubtnut.com/l/_kEQdy6GMHLnv
https://dl.doubtnut.com/l/_I5bhIwgwbSD9
https://dl.doubtnut.com/l/_G3PWQP0EFMkJ
https://dl.doubtnut.com/l/_ZowRK1Emliht


118. Prove that: 

Watch Video Solution

= tan8A
sin 11A sinA + sin 7A sin 3A

cos 11 A sinA + cos 7A sin 3A

119. Prove that: 

Watch Video Solution

= tan 4A
sinA + sin 3A + sin 5A + sin 7A

cosA + cos 3A + cos 5A + cos 7A

120. 

Watch Video Solution

=
sinA + 2 sin 3A + sin 5A

sin 3A + 2 sin 5A + sin 7A

sin 3A

sin 5A

121. Prove that: 

Watch Video Solution

= tanθ
sin(θ + φ) − 2 sin θ + sin(θ − φ)

cos(θ + φ) − 2 cos θ + cos(θ − φ)

https://dl.doubtnut.com/l/_LrUIOeEp7mny
https://dl.doubtnut.com/l/_AI3wrZHraXDU
https://dl.doubtnut.com/l/_JdlYUMowppok
https://dl.doubtnut.com/l/_Z4kJnIxXJNie


122. Prove that:

Watch Video Solution

sinα + sinβ + sinγ − sin(α + β + γ) = 4 sin( )sin( )sin(
α + β

2

β + γ

2

123. Prove that:

Watch Video Solution

cos(A + B + C) + cos(A − B + C) + cos(A + B − C) + cos( − A + B +

124. If 
 prove tht 

Watch Video Solution

+ = 0,
cos(A − B)

cos(A + B)

cos(C + D)

cos(C − D)

tanA tanB tanC tanD = − 1

125. If 
 , prove that cos(α + β)sin(γ + δ) = cos(α − β)sin(γ − δ)

cot α cot β cot γ = cot δ

https://dl.doubtnut.com/l/_fhWJhWxb7Mb7
https://dl.doubtnut.com/l/_bg5d7Bpfyhf3
https://dl.doubtnut.com/l/_xYL9OWKs1I5j
https://dl.doubtnut.com/l/_yoe7GHSkpIFH


Watch Video Solution

126. If 
write the

value of 

Watch Video Solution

(cosα + cos β)
2

+ (sinα + sinβ)
2

= λ cos2( ),
α − β

2

λ.

127. If 
 then write the value

of 

Watch Video Solution

sinA + sinB = α and cosA + cosB = β,

tan( ).
A + B

2

128. If 
 then write the value of 

Watch Video Solution

cosA = m cosB,

cot( )cos( )
A + B

2

A − B

2

https://dl.doubtnut.com/l/_yoe7GHSkpIFH
https://dl.doubtnut.com/l/_UVSXcZVEOTFl
https://dl.doubtnut.com/l/_DgYkpN4bhbz6
https://dl.doubtnut.com/l/_0uomihtel1EF


129. Write the value of the expression 

Watch Video Solution

1 − 4 sin 100 sin 700

2 sin 100

130. If 
 then find the value of 

Watch Video Solution

A + B = and cosA + cosB = 1,
π

3

cos( ).
A − B

2

131. Write the value of 

Watch Video Solution

sin 120sin 480sin 540.

132. If 
then write the value of 
.

Watch Video Solution

sin 2A = λ sin 2B,
λ + 1

λ − 1

https://dl.doubtnut.com/l/_rHfViwGbLoE0
https://dl.doubtnut.com/l/_j0YQoDkWgzMi
https://dl.doubtnut.com/l/_MYvJ3z063oDK
https://dl.doubtnut.com/l/_Q8YHKETk1ieH


133. Write the value of 
.

Watch Video Solution

sinA + sin 3A

cosA + cos 3A

134. If 
 , then write

the value of 

Watch Video Solution

cos(A + B)sin(C − D) = cos(A − B)sin(C + D)

tanAtanBtanC.

135. 
 
b. 
c. 
d. 

Watch Video Solution

cos 400 + cos 800 + cos 1600 + cos 2400 = 0 1 1/2 −1/2

136. 
 
b. 
c. 
d. none of these

Watch Video Solution

sin 1630cos 3470 + s ∈ 730s ∈ 1670 = 1/2 1 0

https://dl.doubtnut.com/l/_AfjVq6GCKxvU
https://dl.doubtnut.com/l/_r19b2WAfp5bI
https://dl.doubtnut.com/l/_gQmhuwmlM6YM
https://dl.doubtnut.com/l/_XDx7gP1CvTqA


137. If 
 , then 


 
b. 
c. 
d. 

Watch Video Solution

sin 2θ + sin 2φ = and cos 2θ + cos 2φ =
1

2

3

2

cos2(θ − φ) = 3/8 5/8 3/4 5/4

138. The value of 
is
 
b. 
c. 
d. 

Watch Video Solution

cos 520 + cos 680 + cos 1720 0 1 2 3/2

139. The value of 
 is
 
 b. 
 c. 


d. none of these

Watch Video Solution

sin 780 − sin 660 − sin 420 + sin 60 −1 1/2

−1/2

140. If 
 then 


b. 
c. 
d. none of these

Watch Video Solution

sinα + sinβ = a  and  cosα − cos β = b, =
tan(α − β)

2

−
a

b
−

b

a
√a2 + b2

https://dl.doubtnut.com/l/_QvQGzeLWTbt0
https://dl.doubtnut.com/l/_HVfUIZaCUoDA
https://dl.doubtnut.com/l/_WAvhXUeGxpMh
https://dl.doubtnut.com/l/_Hfe5SbUwvEqk


141. 
 
b. 
c. 
d. 

Watch Video Solution

cos 350 + cos 850 + cos 1550 a. 0
1

√2

1

√3
cos 2750

142. The value of 
is equal to
 
b. 
c. 
d. 

Watch Video Solution

sin 500 − sin 700 + sin 100 a. 0 1 2 1/2

143. If 
 is equal to
 
b. 

c. 
d. 

Watch Video Solution

sin 470 + sin 610 − sin 110 − sin 250 a. sin 360 cos 360

cos 70 cos 70

144. If 
 
 b. 


c. 
d. none of these

Watch Video Solution

cosA = m cosB,  then
cot(A + B)

2

cot(B − A)

2
a. 
m − 1

m + 1
m + 2

m − 2

m + 1

m − 1

https://dl.doubtnut.com/l/_Hfe5SbUwvEqk
https://dl.doubtnut.com/l/_OkqcZTa2bFmz
https://dl.doubtnut.com/l/_TTmTQ5XsvZHy
https://dl.doubtnut.com/l/_N5cPvCZMPyJa
https://dl.doubtnut.com/l/_mcFexktmxUkG


145. If 
 are in A.P. then 
 
 b. 
 c. 


d. none of these

Watch Video Solution

A,  B,  C =
sinA − sinC

cosC − cosA
a. tanB cot B

tan2B

https://dl.doubtnut.com/l/_mcFexktmxUkG
https://dl.doubtnut.com/l/_n59aTOCi3nr2

